"

NPOIEA S DL LENPOR Y FT—2

g = B K

(BHA]  (BEAL 2 FD

£ =3l S 3 3A31H BIE
(BEEDH)
(FREh&E]
He - B
ha He 1,936,310
E e 6,306,571
Bl - e Gt 8,242,881
G &R
* I & 2,826,000
Fe L fEME Gt 2,826,000
TRENEE ST 11,068,881
(EE&E]
(BEEEEE)
B 7] 738,631
BB R i 619,965
28 fEs 9,600
BREEEE &t 1,368,196
REZOMDOERE)
R i £ 70,225
REA MRS 100,000
REZOMDERE &t 170,225
EEEEAR 1,538,421
BEOEW &t 12,607,302
(BEOR)
(FEhafE]
x #h & 2,291,472
A% I 30,000
BHEAS 500,000
rEBAS 100,000
Hoh & 200,560
FILENBISE 72,000
KILHER S 536,800
FBfafE 3,730,832
BEOHE A5t 3,730,832
(IEBREAZE DEB)
[IERKEA ]
AT R FE AR 8,606,077
W HA I BREA RE R AR 270,393
IEBRIAE & 8,876,470
EBREEEDS A5t 8,876,470

ffE - ERMESE

12,607,302



